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M3 1:

el 9emsfl & g UFES! & UFEd & &4 H o i
(i) 140 (ii) 156  (iii) 3825 (iv) 5005 (v) 7429
g3 1:

(i) 140 = 2x2x5x7 = 22x5x7

(ii) 156 = 2x2x3x13 = 22x3x13

(iii) 3825 = 3x3x5x5x17 = 32x52x17

(iv) 5005 = 5x7x11x13

(v) 7429 = 17x19x23

¥ 2:
quife| & Fufaf@a gml & HCF 3R LCM 1 SIS a1 S8&1 wig Sifere i g

st H7 OHEE = HCFxLCM &1
(i) 26 3R 91 (ii) 510 3R 92 (i) 336 3R 54

E3T 2:

(i) 26 3R 91

26 = 2%13

91 = 7x13

HCF = 13

LCM = 2x7x13 = 182

ol TEaft F1 UAET = 26x91 = 2366
HCFxLCM = 13x182 = 2366
3 UHR, T T3] &1 0% = HCFx LCM

(ii) 510 3R 92

510 = 2x3x5x17

92 = 2x2x23

HCF = 2

LCM = 2x2x3x5x17x23 = 23460

ol HE3H] &1 UAdd = 510x92 = 46920
HCFxLCM = 2x23460 = 46920
9 SR, T TB3ff &1 UFEe = HCFxLCM
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(P& 10)
(i) 336 3 52

336 = 2x2x2x%2x3x7 = 24x3Ix7

54 = 2x3x3x3 = 2x33

HCF = 2x3 =6

LCM = 24x33x7 = 3024

&l GEI3fl &1 UHEE = 336x54 = 18144
HCFxLCM = 6x3024 = 18144

9 UHR, T B3l &1 UFEe = HCFxLCM

A3 3:

3uTed Tu-E e fafY g Fftafad guie! & Lem 3R Her T1d Fifem:
(i) 12, 15 3R 21 (i) 17, 23 3R 29 (iii) 8, 9 3 25
L3I 3:

(i) 12, 15 3R 21
12 = 2x2x3 = 2¥x3

15 = 3%5
21 = 3x7
HCF = 3

LCM = 24x3x5x7 = 420

(ii) 17, 23 3 29

17 = 1x17

23 = 1x23

29 = 1x29

HCF = 1

LCM = 17x%23x29 = 11339
(iii) 8, 9 3% 25

8 = 2x2x2 = 23

9 = 3x3 = 32

25 = §x5 = 5

HCF = 1

LCM = 23x32x5? = 8x9x25 = 1800
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H9 4:

HCF (306, 657) = 9 f2a1 &1 LCM (3086, 657) T SifeTT

# 317 4:

HCF (306, 657) = 9

g0 9Id 7,

LCM x HCF = & H&3ff &1 U=

gHfer,

N—— FR I ERINE T _306X657 g

HCF 9

THYHR, LCM (306, 657) = 22338

X9 5:

Wi $ifor fas 71 el wigpa @ n & fomg, S 67 i@ 0 OX WA & S ol

3TN 5:

afg &g S 3 0 I FHIE & Hehal 8, ol 96 10 ¥ RAvifem it § o gt w=st
Ug T8 2 3R 5§ faurfora gl

FfF 10=2x5

6" & HYT UHESH = (2 x3)" = 2"x3"|

6" & UTST UHEe- | 5 T8l ¢l S9ieL 67, 5 ¥ fauifora &l g

IO DI MURYA WG B Hfgdiaal g4 ge Fidd &l ¢ % 67 & UHEs 1
2 X 3 & sfoliad 3R S ervTeg oSS T8l g

3ra:, Tt oft wra ¥@m n & o, @@ 67 s 0 WX 9HTE T8l gl Ul o

X3 6:
mﬂﬁﬁmﬁ??xllx13+13Gﬂ??xﬁx5x433x2x1+51ﬂﬁl

e 4§

# 397 6:
i TEmait & € ¥ i v g g

ST e =7 x 11 x 13 + 13
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=13 x (7 x 11 + 1)

=13 x (77 + 1)

=13 x 78

=13 x13 x 6

UNSR, 39 UEN & 3 ¥ e U (1, 6, 13 3R A TEm) ¥ 36l U8 s
W T B

G A TR EBN =7 x6x5x4x3x2x1+5
=5x(7Xx6x4x3Ix2x1l+1)

=5 x (1008 + 1)

=5 x 1009

TUVEN, 3H TEN & g ¥ Hf¥F W (1, 5, 1009 3R A ¥&=) &1 9 98 U
Ui T& &1

A 7.
& 99 F A & IRf 3 UF UK Uy g1 39 ASH & Uh gae o |

i &1 18 fiFe @d €, wafe g3t 35 &1 s 99t o | W8 &t 12 fiee
ad €1 A dfifore @ 1 ue & e SR U wHY W TeE R $d Ud gl
feen & 9d €1 fFa 9oy a1g § g uRfie =E 91 e

g3 7:
M & 12 e @d € wete G & 18 fFe @ € Ut 99y 916 oFl eOH

TR R U3 81T 3 98 |99 12 3 18 &1 LCM 81

18 =2 x 3 x 3 3R,

12=2x2x3

12 3R 18FHTLCM =2 x 2 x 3 x 3 = 36

TaveR, 3T SR | 36 e @1g gFT o oy RIA W8 |
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